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Cluster: 0179 ptr; resid: 0.41; r/c: 28/71

x.range

upstream meme PSSM #1; e=2.8

1 3 5 7 9 11 131 3 5 7 9 11 13

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=9.5

1 3 5 7 9 111 3 5 7 9
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45192
6457

10005

28568 33186

33267

33584

40691

41259
41639

42963

4487644978

45108

45208

45251

46436
46703

46783

47358

47900

48974
50128

51092

54681

54983

7893

95120−95518_30S

string −500 −400 −300 −200 −100 −1
95120−95518_30SNA

33267−0.18
50128−0.33
54983−0.36
33186−0.54
54681−0.64
46436−0.74
40691−0.87
45108−0.87
44978−0.93
45251−0.98
47358−1.12
41259−1.21
46703−1.34

7893−1.52
28568−1.56
46783−1.67
33584−2.63
44876−2.71
47900−3.08

6457−3.15
10005−3.28
45208−3.54
48974−3.74
51092−3.98
45192−4.45
41639−4.87
42963−6.37

log10(P) upstream meme1 2 log10(P.clust)=−2.10; 28 seqs; 28 uniq
c(0.5, 2.5)
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